Name: Kopfrechentest_2_Teilbarkeit 15.01.2019
(D Berechne!
39:3= 133:7=
72:6= 13+16=
1011 = 76:4=
144:9 = 13+12=
(2 Berechne!
a) 10+33= d) 6+24=
b) 4-24= e) 2-23=
C) 6 * 33: f) 1 4
(3) Durch welche der Zahlen kann man 165 teilen?
02 03 04 05 Oe6 09 O 10
(4 Durch welche der Zahlen kann man 240 teilen?
02 O3 U4 Os Oe6 Oo9 O 10
(5 Durch welche der Zahlen kann man 315 teilen?
02 O3 O4 Os Oe6 Do O 10
Bewertungsschema:
6 [ 5-| 5 |5+|[4- |4 |4+]|3- |3 [3+]2-|2|2+]1-] 1
0(25|35|45| 5 |55| 6 |65|7 (75| 8|85 9 (95|10

Mathematik
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